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@ sin 60°
O tan60° =
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© cos60° =

® bx=ay




3.  sin0° X cos 60° 4 cos 0° X tan 45° — sin 45° X tan 60° =7

®1—§ @1+§ @1—?
@1+ﬁ @2—£

2 92



@ sin32° =0.52
© cos34°=0.83
© tan36°=0.73
® 2sin42°=1.34

@ 3cosd4° =21

2E Ab@l(sin) | F AFQl(cos)| EHHIE (tan)
31° 0.51 0.86 0.60
32° 0.52 0.85 0.62
33° 0.54 0.84 0.65
34° 0.56 0.83 0.67
35° 0.57 0.82 0.70
36° 0.59 0.81 0.73
37° 0.60 0.80 0.75
38° 0.62 0.79 0.78
39° 0.63 0.78 0.81
40° 0.64 0.77 0.84
41° 0.66 0.75 0.87
42° 0.67 0.74 0.90
43° 0.68 0.73 0.93
44° 0.69 0.72 0.97
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sin 30°
cos30°

@D V2

X tan 60 ° +

sin 90 °

sin 30 ° X cos 60 °

@ 3 3 2

o zre?

® 3



@D 39°

o] TE Hlsinx = 0.6691 & o, x o] 727
2t | AFQl(sin) | EAFRl(cos) | EtMIE(tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
471° 0.6561 0.7547 0.8693
4 0.6691 0.7431 0.9004
® 40° B 41° @ 492° B) 45°



1017} 10m Q1 Atehe]7t oh2 133
o] Ho A4 Qlet. Atrhe|e AW
olf= 7o 2717k 62° & |, A
O = BE A7 g Z7HA] 9
o| & WhEdsto] A4 AR A7t
Fstolel. (W, sin62° = 0.8829,
cos 62 ° = 0.4695, tan 62 ° = 1.8807)
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oS 2oA /B = 30°< u,
AABC 9] Ho]E oot
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@ 41v2 @ 422
@ 442 ©® 452

3 4342




10.

o2 19 9] H3PAPHY ABCD 9
o7t 24v2em2 Y o, «.Co 2
71& Fstefet, (2 2C > 90°)
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= 1A 2 AAAAY ABC oA tan A = % 0|1, BC 7} 12
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13.

the 2L @ e Fol7t 2 9 S

=
Aloltt. /CEG = x € W, sinx+ cosx &
e Fohwr
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@ sinA - cosA

@ cos A

-2

@ sinA

2
5

@ tanA =2



Q1 o] Lkt 9k ), 1 Ae]7k BC ot

@ tanx ® tany

® cosy

@ cosx

@ sinx



BC € 9, tanA &

@Agcwmﬂﬂxgzg

4 2pzt

/B =90° ¢l

17.

sholat

2

N



e sin cos tan
44 0.6947 0.7193 0.9657
45 0,7071 0,7071 1,0000
46 0,7193 0,6947 1,0355
O 1.022 @ 6.947 ® 7.071

@ 9.567 3 10.355



19. g a3 & AABC 9|4 /B =85°, /C =
65°, BC =12 & wf, AB ©] do]g &5 ofef
AR ZFe]7kA] FSHA? (T, sin 65 ° = 0.9063)
O 20.153 @ 21.751 B 22.482

@ 23.581 ® 24.372




20.

oh5 19 0] HPAPAT ABCD oA
AB = 6cm , BC = 10cm , /BCD =
120° 4 wf, AC o] Zo]=?

® V67 @ V71

® 2v19 @ 36

& V95




21. o2 T1ET 22 AABC oA &l h & FSHH?

e

- H 20—~

©® 10(v2-1) @ 10(V3-1) ® 10(V3-V2)
@ 10(2v2-1) ® 10(v2-2)



22. oh& 1ol H4AG Wol S A T
AR
@ 24cm? @ 24+2cm?
® 24+/3cm? @ 48cm?

3 48 V2¢m?2



23. og ad"oA BC =6, 2£C =120° o]
AABC @] Ho]7 183 & o, AC 9] 4
o] & “Fotofet,



24. 5= HASHA cosx o] wFxE FA A,

o= vtz Zzjej3d 227 J3F----- !
3 |
@ cosx:?\/_, x=60° 1A !
2 N
@ cosx:%/_, x=230° | :
2 . I 1
©) cosxzi, x=45° * K >
P o B v
@ cosxzi, x=060°
3
® cosx:%/_, x=230°



25. o2 2937} Zo] 100m Bl & A C
HA,B A stael Wil 75 C
= 9orhR 7%} 217 60° , 45° %

o}, ol uf, 78] el h 2

® 100m @ 50V3m
® 100V3m @ 100(V3-1)m
® 50(3- V3)m



